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A consumer in equilibrium shows any change in his plan of expenditure, such change will
only reduce his

~ (A) Marginal utility
y Total utility
(C) Utility
(D)  Satisfaction

msiCGanrfler S Qsweller ggraug Lnrrm;sumg ma&iGarflar soflo aamamd SsamaEL DTHDLD
sjeuflen eThs LIWETUITL DL GMD&ELD

A) @ndfee uweaun®
(B) Qurés uwenun®

(C) - syref vwerun(®

D  doud

The Wage-Fund theory was enunciated by
(A) Alfred Marshall '

(B) Henry George
(C) David Ricardo

pr J.S. Mill

a@ad-H8 Cam_un_e Geugnd Agafieuns @S sapuULLg?
(A) o9yl wrirage

(B) Qapendl guigy

(C) Creil’ MasmiGLn

(D) J.S. bl

“Interest is simultaneously the reward for the pure yield of capital, of saving, for the
foregoing of liquidity and the supply of money”. Who said this?

W Wicksell | (B) Marshall
(C) J.S.Mill (D) Keynes

el ps@ wHmh Gablider g 2és580E @Cr CrrsHed amhsrasinE GsrBésuu@L
fHirento QuimBluyd wp@d Liew SfefluywLTED. @smen sadlweui

(A) Gur. efl&Cad : (B) oniraged

(C) J.S e (D) &Sanev
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4. Equjlibrium condition for a priceless commodity, then the consumer gets
Price equal to zero

(B)  Price equal to one
(C)  Price greater than one
(D)  Price less than one

eflmauiawr Aurmeramen msiGarfar swflena msiGamt Qupeugy
(A)  dleaég swwors LD

(B)  eflemadsg swwons geny

©) gopseE fswors dae

(D) ganss Gonaurs eflae

5. Marginal rate of substitution can be expressed by
AY Y
=— MRS,y =—
\M MRSy AX (B) e
Y AY
C MRS,y =— MRSy =—
© X =y D) Xv =%
Bodflaw LS 6 ezb @aany Osfclssond
wirmbd Y e Y s
(A) MRSy = S (B) MRS;y=— O
wryb X e wrpb X see
Y s wrmin Y s
(C) MRSyy=—-—"7"-"TTR— (D) MRSyy =
X sE X s
6. In which one of the following commodities, we derive consumer’s surplus’in our daily life?

Necessary Commodities
(B) Luxury Commodities
(C) Inferior Commodities
(D)  Superior Commodiﬁes

Bmb S eumpseauier msiay erésh QupUILRHCDMD e Qe arg
A)  sisdureudlu Quimm_ser '

B) ey buy Qurg_ser

©)  wliwrer QurmLsar

(D) e wireuren Qumpser
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7. In which book Prof Hicks defines economic dynamics is an every quantity must be dated?

\M Value and capital

Capital and growth
(C) Das Capital
* (D) Trade cycles

Cur.afise aps Hifle Guigh QurGemsTd eang @abeun®m SieTallmenyb s UUME
GCaHlL Gauam (@b eremmy &ablujemarmir.
(A) Aoy wHHIL pPOSSILD

(B) poged wHmD eueriTEs

(C) srev Canlble

D) euenfls spns

8. The market period is a very short period in which supply is

W Fixed (B) Rotational
(C) Changed (D) Dependent
SEET & ST erenugl 056 GnEL srob . Gasragdle Saflluneng ——— G0
Aa) fPeewrag (B) spms@iug .
(C) wryeug (D) anireus

9. Satisfying power of a commodity is
Utility (B) Vulnerability

(C) Ability (D) Resource

B5Ca g uam_san SHUALLEEHIL SpeamEo
(A) wwemur® (B) ageunen
(C) Hpen ] (D) euemd
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10. Which of the following is not an assumption of the classical theory of employment?
(A)  Money wages and real wages are directly related
.Wages and prices are fixed
(C)  Full employment
(D) Perfect competition

£Cy Qan@ésuiu_Harar ar(Csmearsatia geann Agraneno Cauemeaimiiiy Cam L iqen a@Csmar
DIV DiF) CTENEL GTEIT GHITERTE.

(A)  wewr sl HDD 2 a@TEID Facd Crrgwns Ggm_imjenwg
(B) sl opmib eflenasar Hleneowimeng

©) oy Cume Haw

(D)  fleomey Gum i

11.  The government expenditure multiplier is

1 1

AS
AY -C 1
(©) AT 1-C (D) ; AC
AY
275 Qe Qupsd eramug
) L .
AS
AY -C 1
(© AT - 1-C (D) 1+A_C
AY

12.  Who propounded the concept of “principle of effective demand”?-

(A)  J.M. Keynes W Prof. Dillard
(C) David Ricardo (D) Hicks
‘ellenareyerar Cgeneu Qanarens eremm &(hpens 2 mHeunsdlweui
(A)  J.M. Eamev (B) Gupr. yéeri@®
(C) Cuefll AsmiGLn (D) afléev
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13.

14.

15.

Which of the following is not related to macro economics?
(A) Total employment
(B) National In¢ome

y Individual firm

(D) Total savings

Spssngib ganfle, Cuilud AuTmETTSTTSSILen Qsmiyenwg o
(A) Quorss Cauenaeumiiiy

(B) Csflw eugpeumis

(C) safipur fimpeuend

(D) Gwrss Cabliny

In a two sector economy, the saving and investment functions are as follows
S=10+02y I=3+0.1y then what will be the equilibrium level of Income?

(A) 90 (B) 100 .

(©) 80 g ym

@rie Qummermgmysde, Gaflly LOHHID wsSL @ smiyser Geeumesen S =10+0.2y
I =3+0.1y aumoner swblena él;ﬂ'ﬁ.l Hleney eremen?

(A) 90 (B) 100

(C) 80 (D) 15

IS-LM model has been formulate by

(A) P.A. Samulson ) (B) J.M. Keynes
& JR Hicks (D) F.Modigliance
IS-LM wréflenw o eurddlwieut
(A) P.A. smepGeucbseim (B) J.M. &enev
(C) J.R. abléev (D) F. Qumgsélenerenen
7 MAE/18
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16. Match List I with List IT and select the correct answer using the codes given below the lists :

List I List 11
(a) Supply creates its own demand L J.B. Say
(b)  Choice reveals preference 2. Adam Smith
(¢) Division by labour is limited 3. Ricardo

by the extend of the market

(d) Corn in high not because 4. J.M. Keynes

rent is paid

(a) (b) () (d)

2 3
B) 1 1 3 2
€ 4 1 3 2
D) 4 1 2 3

Qar®sstu Herer @rer® UL igwidseT Aurmsdl sfiwren elen_enws Caitey Qais :

Gfley I Gfley IT
(a)  <iefiuy sis6n Comeaeni e paursgdpg 1. Gg.9. Cs
(b) Qsfley wpengyfienn sefdaiuREng 2. gyLibewfs
(@) speng ellfleuen & Aurps 2 enpiiy 3. MasmiCLnmr
UGUY SLBHUUESSILEADS
(d)  sifsiren cummid Qsgissd 4. Cgerb. Senev

@ ® © @

A 1 4 2 3
B) 1 4 3 2
C) 4 1 3 2
(D) 4 1 2 3
MAE/18 '8 L 2




17. Keynes recommended a public works programme in a depression to promote

Full employment

\M Employment

(C) Unemployment
(D)  All of the above

QumES. WHE STsHM, 2Te Aurg uailsmar Gm}b@sneﬁm Couakr(d eren Hemav
ufibgienrssmi
A) @y Camafioaw
(B) Geueneveumiioyy

(©) Ceauemeullenenn

D) GCuCe o drer @EGHID

18. Investment in the Keynesian sense means an addition to

M Real capital assets

Nominal assets
(C) Both (A) and (B) correct
(D) Neither (A) nor (B)

wad® aeng Sanflen sapm @@L —— & (DB @D

(A) oaweno ppegan CensgisaeT
(B) GQuuwgere) Qendgsaer
©) (A wppod (B) &

D) (A) seup (B) geum
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19. Whigh of the following is not included in the estimations of national income?
J Transfer payments (B) Rent
(C) Dividends (D) Interest

ECy Qanpasuul_Herer clenLsafld gan Caélu ameunl savsdHeude 2 aTaTL&858l0 eumeug) .

Boma 25 ag)? .
(A) ° wrpps Qsgussflene (B) e
(C) umsTgmLD (D) euly

20.  If the equation MV= PY , then V represents
(A) _ Value of money
Velocity of circulation of money
(C)  Variation in money

(D)  Supply of money

PO swaur_ige MV = PY aampré, V erans @flé@io
(A)  uewr iy
(B) wewr spnéluien Ceusd

(©
(D)

uemtglen wrmLIn
uewr afliiy

27 Value of money means

(A)

Gold purchased by money ;

W General purchasing power of money

(©)
(D)

Importance of money
Demand for money

uewr iy eremigesr Quimmer

(A) - venssre eummiid SRISLD
B)  uemgden Qugeuran uTBIGLD Sme
©)  vengen wpaHuggeuid
D)  uewrs Caameu
MAE/18 10




22.  In the money supply, the relative importance of cash component
(A)  Goes up with economic development
y Goes down with economic development
(C) Remains unchanged with economic development
(D) None of the above ‘

uer sefile, Arréssden @uidL p&SusgId

(A) Q-urr@cmrgnu wpanGanmm CuGa Gswgiga

B) Qurmemsny wenGarpoid ECyp sflge

(C) Qunermsmy wenCanpnsSle ahs LIHHAPL o
(D) Culwo o drer Smensgid Seum

23. If PT = MV in the short run price behaviour, then
(A) P varies inversely with M
(B) T remains unchanged
Short run change in V be predicted
(D) There is no change in interest rates

swarLn® PT = MV gpdw sre e flooaw dasgugns QaraiGamd. SLUGUTETe Diger
Gaeneu

(A) M eLenP afivepunrs Caupu®dge

(B) T wrhpb @deme

(©) Vasaflssiu@baurgs Gnéwu sregde wrmb

D) . el Afgsde wrHow Goma

24.  The relationship between value of money and the price level is
(A) Direct related (B) Indirect related
w Inverse related (D) None of the above

uarsSlen LHLLEEW wHmD e Hawseh GoLGw o-arer Qgmiy
(A) Cpiwenp 2-pey : (B) wepus e pey
(C) erdinoenp 2.mey (D) CuwCe o erer ergia|b Geoame
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25.  Which function is stressed by the traditional and Keynesian thinking in money supply?
(A) Store of value

(C) Transfer payments
(D)  All of the above

vemr syafluy Gamiumged, iy Qurmefluederisar wimb Safler uniama s Uanflenw
pé&&Ewid eren cuelluymisduig?

(A) iy Callss mausse
B) Qegiss pGfow

©€)  ufwrpm Gegissb Hlene
(D) Cunsrerer DDBTHGID

26. The terms of Money, Interest and prices — were explained by

(A) Keynes W Don Patinkin
(C) Pigou - Robertson

UemTd, aullly Lopmitd eflenavser, eTem samenm eﬁlm&&lu.:mn
(A) Bemev (B) Lmenw um.qar&an
(O A (D) @umuid_ger

.

27.  “"Attempting to define full employment means raising many peoples blood pressure”-Who

said this?
W Prof. W.W. Hart (B) Keynes
(C) Fisher (D) Pigou

" Gauwa flape” - adaugmar auaqupLUsHaETer pupdlurerg. uw puiseiear @rés
DH(PESENS aﬁmﬂm Qewdlng) "~ @)ésmbenn saBliieui wrir?

(A W.Wapi (B) &enev
(©) Gegi D 9
MAE/18 ' 12 @




98,  The number of times a unit of money exchange hands during a unit period of time is known

as

\/ Velocity of circulation of money

(B)  Value of circulation of money
(C)  Power of circulation of money

(D) Count of circulation of money

S SOG STOELEHD, @ HNEG LD, TEEDET PED GETHHLD QeiwtuPApCeT Sws
GremmenLpUILIT

(A)  uer spélufen Causd

(B)  uewr spHéludien S

(C) e sHflullen 555

(D)  uew spSlulen cramentisens

99.  Which committee on the financial system recommended the government for major changes

concerning the Cash Reserve Ratio in the year 1991?

% Narasimham Committee

Chakravarty Committee
(C) Rangarajan Committee

(D) Tandon Committee

1991 @b pemgd uvewm Maies elflssHo &AL LIDPREEES THS S SArETRESHDEG
ufipgieny Qswiss!

(A) prélibamd G

(B) sarauisd GW

©) rrsmTRe G

(D) Lmewren G
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30.  Which organisation was established in the Uruguay round?
WTO (B) IBRD
(C) WHO (D) SDR

2. (GG UUBSSSE peid aTbs Lserm () Hmeuend Qsm_masliu L g?
(A)  cosaigss ey (B) o aseumd

©C) 28 ssrgm Hpeueand (D)  Apuyediy o fens

31.  The exchange rate is determined by

(A) SDR
(B) IMF
(C) WTO

W Demand and supply -

wrpn eissmg Sioraflliug
A)  SApiy @iy o Meswo
(B)  wemenm B e Hfwid
O cesaigss iy
D)  Cpmauuyd wyefliiyb

32.  Which of the following VS secretary of the treasury propoéed measures for debt reduction of
Less Developed Countries (LDLs) in the year 1989?

(A) James Baker (B) Roberts Vance
\W# Nicholas Brady (D) Henry A

Wemaumid 2Quilés smaywsden Aauerearisaidn wri 1989—e GonHs euatisfluenLbg Hrpsefien
EL6N S@EMW GDDES BLeugbans CopAsmen_g?

(A) Cguev Cuasi (B) grurev eureren
(C)  MaCaraen Aymg (D) Qaperh A
MAE/18 ‘ 14 L 2




33.  Excess of value of Exports over the value of imports

\y balance of trade

(B) balance of payment
(C) balance of asset

(D)  balance of enquiry

@paguodulden e el gpmindluden iy s 8 muden o5 —— G-
(A) aigssasulmiy

B) Qegussiens eaudlmin

(C) Qsngg evaudmmiy

(D) efamyenant ensullHLiLy

34. International Monetary Fund does not give ——— for development.
(A) cash W loans
(C) investment (D) advice

penCanprsHinsns, Lenerm () Hif @emanmuid B seen cuPBIETF
(A)  uewnd (B) sLen
C) wsB (D) Canzenen

35.  Disequilibrium in the balance of payments position tends to have
(A) favourable economic consequences
\y adverse economic consequences
(C) stagnation in the economy

(D) increases employment

Qegusgisdan swflaauiio swggeudlamn —— ghuBSSEng.
(A)  sngswrer QUITEHETTSTY eflenerayser

(B) unmssworer dur@GETTSTY eflenereyser

(©) Qurmemsmyse Caés Hlena

(D) Geuewe euminiy sHsf&En Hlene

* : 15 MAE/18
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36. In which year, the European Economic Community (EEC) was signed in Rome?

(A) 1937 B) 1947

G 1957 ' : D) 1967

BCrr0w Qunemmgny sepsid (EEC) Cymb pay PLUUBSSHD sQUTILID Q6T au(HLLD 6Tg)?
(A) 1937 (B) 1947
(C) 1957 (D) 1967

37. Naine the market established by six countries in EEC (European Economic Community)

Individual Market

M Common Market

(C) World Market
(D) U.N. Market

8Crmudu Qurmermgny pr@saia (EEC) oy pr@ser Ceiibg) LSWSTS 2 HeurssiiLC L DMy
A) sefipuir siksmg.

B)  Qung sikismg

O cosmsmg

D)  gsdlu pr@ser DBl

38. Ricardo theory the Doctrine of comparative costs in labour

M Mobile (B) Immobile

(C) Stagnation (D) Less stagnation

AssriGLreller @uS () Gewey Cam_um e 2 enpliLimenit
A  @ubQuuige ; (B) @b Quwrrenn

©€C) Heoawns D) Gophs Heowwns

MAE/18 ' 16




39.  Which country did Heckscher — Ohlin belong to?
A) UK (B) USA

(C) France M Sweden

Qapéegi — gapedlen erp Hriem GCaibgeu?
(a) UK (B) USA
©) Ggrens (D) seflen

40. Mahalanobis gave top priority to the rapid growth by
M Industrial Sector
(B) Service Sector
(C) Agriculture Sector
(D) Business Sector

| wanaCpmiey elampaurar aeniéfsd iHupsiusgioud B gen
@) Gsrfpgep
®B)  uefisgemp
(C) Geuenmmerrgienm
(D) aaflasggon

41. Who won the Nobel Prize for the Rational Expectations theory in 19557
M Robert Lucas
Amartya Sen
(C) Keynes
(D) Milton Friedman

uEssHley erdiumity Cam_um Bsmer Gprum Lfls 1955 b e[ WI(HEES eupRSULILLS?
(A)  grurl gnsmen

(B) SwisHwur Qsen

(C)  &enav

(D) Berer S GQwen

L 4 17 MAE/18
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42. R.F. Harrod's “Towards a Dynamic Economics” Published in

(A) 1948 (B) 1959

(€)' 1969 M 1949

R.F. gonCGym “gm Quiaghome Qurmensmyn Cerad” aenp mieva Geuefluli’ L syam®

(A) 1948 (B) 1959
(C) 1969 (D) 1949

43..  Who said, “The boom has in its seeds of depression”?

W Schumpeter (B) Keynes
(C) Samuelson (D) Friedman

Wi bleowssner slagad iy Hawuld nsCs QupLuEADg erar sadlweui wimi?

(A)  sbOSC LT (B) &amev
(©  snpGeudvaenr (D) O Cwen
44.  “Socially necessary labour” means

M qualified labour

(B) disqualified labour
(C)  countable labour

(D)  uncountable labour

sepagdlan sipHuneudluionrer e epliLimer ereLgen GlLimmer
A  sEHamnips asnl,pu_‘nunmfr.

B)  sEHubp 2 epliunert

(C) craneflsams 2_enpliLimeni

(D) ecavefdmswun 2_anpuiLiment

MAE/18 18




45.  According to Schumpeter, innovations are introduced by the

(A) Labourers

(B) Scientists

\V Entrepreneurs

(D) Technicians

SOELLT sppiug, STy Lysa Smaggio GearsamGatu siblepsnrdns
(A)  ceypuurertaeT

(B) sifleflwe 2iblEpiraer

(C) Gsmfle wpenenGeunitger

D) Qgnflemusiwerraiser

46. What is canon of equity in Taxation?
(A) Taxes should be collected at minimum cost to the government
(B) Taxes should be levied convenient for the tax payer
(C) Taxes which an individual has to pay
M Taxes should pay according their ability

swggie euffl ellFi eremuig) eremen?
(A)  <irs @eDHs et Aewdid aufl augaluug
B) i QegussCGanmiE wsduns aufl @muug
(€) salpui el sgisgious .

D) el e 68 Capu Asgussicug)

L 2 19 MAE/18 -
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47.  Mercantilists realised that an increase in employment would result in increased

(A)

aggregate production

M aggregate consumption

~..(©)
(D)

aggregate savings

aggregate investment

mmﬂ&mn@ss‘n =(fihg Qaram_g wrdgelle Camea sdsflasn Cung odswrs ellaanyb pigéy

(A)
(B)
(©)
(D)

Syar_ winfliy
By msiey
Srawr Cabliy

Syer_ apgeS®

48. =~ ‘Natural order is merely the physical constitution which God himself has given the
universe'. These are the words of

\Muesnay

(B)
(©)
(D)

Turgot
Thomas Mun

Antonio Serra

‘BQuipers guoiiE QeaumwCen sL_eayer GrueresdinG AsrdsHmEED 2L Smwliygnea’ — Genau

WIm(HenL_\ SaHmi?
(A) swevef
(B) Lism_
(C)  smoav aper
D) e nefCunr Qamgr
MAE/18 20 L 4




49.  One of the main indicators of development is
(A) Gross income -
(B) Marginal income

(C) Average income

aGappimg GrHuelsEgn L &8 snenflEEsen ————— QPTG
(A) Qurss suheumyd

B) Quniflee amamyb

(C) symaf augmeumi

(D) s aumHeumL

50. What is the root cause for scarcity of capital?
(A) Low population rate
(B) Low capital formation rate

M Low savings rate

(D) Low consumption rate

APRFELILIDDTEGDESTEN &AWL STTeRTLD GTée?
(A) GODHS LEsaEsTDS D

(B) @®npHs apegen Qm_aﬂ cfldlzd

€) @@pps Cabiuy HEsD

D) @Eopps psie G50

51. Who advocated a vital role of entrepreneurs in his theory of growth?
(A) Joseph John (B) Joseph. B. Say
(C) Milton Friedman \W Joseph A. Schumpeter

‘cueniéd) Gamun(®’ — erenp Bredld AgmfloapmenGaurtien apsHusgiapms eTHSSI@TSHET WIT?
(A) Cgral gren (B) GCgrsu. 9. Gs
(©) érer GerBGuen (D) GCgrau &L
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52.  The killing of nutrient enriching bacteria of the soil is a drawback of
(A)  Yellow revolution
(B)  White revolution

Blue revolution

M Green revolution

wermeuadms SFHsULESSID Hemenio sOWw  urseflurésmer Cardeugy — M

dlenenenL_sum@io.

(A)  weEpser yp_Sublen
(B) Qeauameno yy_ fufen
©)  feo yr Aulen

(D)  usew Yy Hulen

53.  What is the prime aim of the National Land Records Modernisation programme?
(A)  deleting and adding
M updating and digitalising
(C)  drawing and mapping

(D)  computerising and modernising

Caflw flo euem pelanowiorssd AL sdlen swawmu Crnésib erean?
A 2556 whmD Cergge

(B)  uHCeaupmid wHmb asauﬂaﬂm;umm'sasd)

© aarse OHMID CUETLL LDOT&ED

D) sefaflwwwrésd WLHmID FeSemowionsasd
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54. The main objectives of Land-reform is

\M Family farm ownership

(B)  Social farm ownership
(C)  Public farm ownership

(D) Capitalistic farm ownership

flo Sidmsssdan Gygren Cprésonang ——— G-
(A)  EOLU Ho/uaramen 2 flaw

(B) FHPS e 2_flenwo

(C) . =irs Hleo 2 fenwo

D) pseraisge Hlo 2 famw

55. Shortage of Entrepreneurial ability, and Scarcity of Skill are the obstacles to
\Aconomic development
(B) Political development
(C)  Cultural development

(D) Environmental development

Qsmfler aaasHper LHPTEGHD WHDID Hpendley LDPTEG®HD ——— &G FOLIINE

2_aeng.

(A)  Qurmermgmy penGearpp
(B) =irflwe penGanpmid

(C) seorsry apenGanpmold

D) sHmEGRsd parGarppd
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56.  The Fifth Plan (1974 — 1979) had problem from the very begmmng because of
Emergency was clamped
(B)  Over inflation
(C)  Over deflation
(D)  Urgency was forced

270uUD psGao, mbgmer[H Sl wneng (1974 - 1979) Qyésenenger HlennpssnsCeu BmHeg — aen
ereafled

(A)  eusy flevw GysL_end
(B) o wiuswelgsn
(C) o whruewreur_Lib

D) seusrare Blrupsio

57.  InIndia ‘A Plan of Economic development’ was popularly known as the
(A) _ Bharath plan (B) Delhi plan
Bombay plan < (D) Nation’s plan

@pdwneller, Qummermgmy mecmmmgﬂmanm 0 Slin fplurer wepuld GUuigwb

DDPESLILILL g
A umsHn (B) QLo Hiid
(©)  ubumi ALb (D) Czéw L

58.  When growth of population declines, it would increase
(A) Total income
(B) Average income =iy 2
(C) Public income

W Percapita income

wéseT dgreans AUBEGuE Gopub Cung g Bsmen Siflsfsss daldpg
(A) Qurgs aumeumis

(B) sgnaf Qu(mHeumiL

(C) Gurrg@gcnm Qu(HeUml

(D) safpui eumeumds
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59.

60.

61.

Which town was recommended by the Central government to manufacture technical

W Coimbatore (B) Madurai
(C) Salem (D) Trichy

WAL 2i7& SO PET 4@ Agmfle HEsss giexflaer 2 HUSHES LAbS@ISSETET H&ETLD
(A) CamubyssnT (B) wgeny
(C) GCsawd (D) Hmas

Which rank did Tamilnadu secures in the ‘ease of doing business’ ranking in the Business
Reforms Action Plan 2017 list released by Department of Industrial Policy and Promotion

(DIPP)? |
@) 22 (B) 19

) 18* T 15

Qsmfp Qandres wHpd Gobur G geopwrd Qeseflli LUl idss ErhSs HLeugEmES
L ghen &ip 2017 b g e aiiggspms aaignsgaude sOPRHNH 2o @hHu g7 efles
Ul igwelle @eueiiL sl o crerg?

@) 22% @) 19™

(€ 18" D) 15™

In which district, the Nagarjuna Oil Corporation Ltd, a joint venture of TIDCO is located?

(A) Chennai
(B) Kancheepuram

(D) Madurai

gL Ganellen sl (H @UUBSLOTE, praniggeenr e sriLGrager SBALL s wreulLSHd

o ameng?

(A)  Qsanenen
(B) a&rgpélyyd
(C) &Lgni

D) gy
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62.  Which one of the following is not listed in the Central list announced in the Industrial Policy
~ Resolution, 1948?

(A) Civil aviation
(B) Railways

(C)  Arms and Ammunition

W Medicines

Semaumeuareup Bl ey, Asmflogienn Qasnerens Sioremd 19486 SsiflefldatiucL. wgdHu
U gwiedled ulguwielle U efldene

(A)  oamr’® eflwrer Curs@arss|

(B)  mnleGeu v
O yyshsdr wpmb Aaug Auinms_sen .
D)  wEpsseT

63.  Which of the following is the initiative undertaken by the government for the promotion and
development of MSMEs in the year 2015?
\/:IDAM (Udyog Aadhar Memorandum)
(B) PMEGP (Prime Minister's Employment Generation Programme)

(C) CGTMSE (Credit Guarantee Trust fund for Micro and Small Enterprises)
(D) CLCSS (Credit linked Capital Subsidy Scheme)

2015 < g MSME Wenen cas@eiluusHE@ WwHHD Gmwurn.@asasrr& D JFTRISESTE)
Cuop@srerariuc L apwiid) Geneumeaneupible eTg)?

(A)  UAM (2. 5Cwns s AuwCGwryem_ib)

(B) PMEGP (Gyzw widflfer Casena umiliyg L ib)
(C) CGTMSE (@m whgitd Sy Apmfle Hneuemtisensamer sLén 2 5506UNS DESLL_enar)
(D) CLCSS (s_en @evamssiiuc i gpagen wreflwi Hiib)
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64. When was the ordnance factory in Tiruchirapalli started?
(A) 1950 1966
(C) 1947 (D) 1977

Hmsfyriverafiudie 2 aver HpuisLUL Qgmfpsrene aiGUTE Cgm midluig?
(A) 1950 (B) 1966
(C) 1947 (D) 1977

65. How many co-operative sugar mills are existing in Tamilnadu?
(A) 42 (B) 43

© 2 P

SOIDHTL g eThgeman sl _HD6 ET&HDY DLEEET 2_eTaTen?
(A) 42 (B) 43
© 26 (D) 16

66. The process of ownership from public to private i1s known as
(A) Nationalisation (B) Globalisation
\9’ Privatisation (D) Liberalisation

Qurgs sipuimbg saflurt Hwpée wrmid Hlenew
(A) . Capfluwwwrése ' (B) e @swwLI&Es

(C) safluriowwrésa (D) smyreTLWILTSESHD

67. In which year, the Micro, Small and Medium Entegprises Act (MSME Act) was enacted?

(A) 1991 2006
(C) 2008 (D) 1988

aTib 2pemia. &, piemeiiv, Sp PO BOS5T Heuamsar s_Lb (MSME Act) @udpiiuiLg?
(A) 1991 - (B) 2006
(C) 2008 (D) 1988
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68.  Statjpsical data arranged according to the time comes unider
J::hronological classification

(B)  geographical classification
(C) qualitative classification
(D)  quantitative classification

Blapey arasder gLl aflesiu@gssuuc L yerell efluy eesiun@ — &
au(hEImE;. i

(A)  sreqpap QuensLILIT_1g 6
B) yeQwe QUENSLILIML ig 6T
C) sy sagy CUENSLILIML Ig &8
M) umw sarey cuensILIT g6

69.  The word statistics mean
M numerical state.ment
(B)  verbal statement
(C) symbol statement
(D) digital statement

yenaflule ergyd euriisengulen Quimmer
(A) erawrsead 2 S50

B)  ewsz/Qunfure 2 erssa

©) Sy 2 apssn

D) senflall il e apsse

70.  “Unarranged data are as dead as mutton” — Who told this?
(A) R.L. Cannor (B) T.A. Boulder
(©)  J.M. Keynes ) R. Hicks

‘aflesliu@ssiiuc g yerall efleupmiisdr Bnis Qenédée swib” — erem smE®SsH salieui wWmi?

(A)  yi.erer. Caammir B) .. Gumai
(C) Cg.enb. &emad (D) Cg.yi. afléen
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71. A pie-diagram has several sub-divisions in a ———— form.

(A) square E (B) rectangle
y circular (D) oval shape
aul L eflemésiiLLomeng), —— auigefld L@CGeu 2 L s msmaTs Qsrearm_sms @)m&ELD.
(A) sgimonar (B) Qecucusioner
(C) au'_n_mrr.sm ’ (D) Beveul L omen

72. A single value that reflects value of all the data’s is called

W average

(B) arithmetic mean

(C) median

(D) mode

Simangg Larefl efluiisafian wdieuwd Ardusiisdean G wHUGL —————— YBD.
(A)  agnafl

(B)  &al_ (& syna

(C) QeLflow

((0) R CLC

L-S _45-13 _32 _,
L+S 45+13 58

(A) 077 (B) 0.66

W 0.55 (D) 0.44

L-S _45-13 32
S5550 =9
5@=T7.S 45+13 58

A 0.77 ~ (B) 0.66
(C) 0.55 (D) 0.44

78. Coefficient of range =
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74. Which is not an important function of statistics?
Orientation
(B) Presentation
(C) Simplification
(D)  Facilitation

Sipsaa_cuphmer ergy Larafluween S WPE&EU sTTL e?
(A)  opiulssse

(B)  efleuy efleraswaflggen

©) eaflawiu@ssse

(D)  ausd Qaisge

75.  Which average is affected most by extreme observations?
(A)  Mode (B) Median
\V Geometric mean (D) Harmonic mean

s Higaler eaampliLsae Bs sifswors urdlEsin@i syref erg)?
A @s6 (B)  wiflu siemey
(©)  Quewée syraifl (D) @esfdeL symsf

76. Coefficient of variation is calculated by the formula

@ X100 @ A
a. : g
ag [}
© %1000 \W?xlﬂo

Crinonpe Qe serad e LweTUHSsUL D @S

(A) Exmo (B) =4
(e o
0 <1000 =
(©) e 100 (D) XxlOO
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77.  Average is an attempt to find one single figure to describe of figures.

(B) three fold
(D) part

two fold

cremsamanib cleTEGSHE, @D craRTendRT SETLHlaughamen pwdCey s7Taf G,
(B)
(D)

(PDLOL_1BIES;

LGS

(A) Qmweng
© o

78.  Expand MSECDP
(A) Micro and Small Electricity Corporation Development Programme

(B) Micro and Small Enterprises Corporation
W Micro and Small Enterprises Cluster Development Programme
(D) Micro and Small Scale Industries

MSECDP-en eflfleur&sn

(A) meweniiu wHmd Ay Fpeuernbiser Blenany eurflu cueréls S b
(B) mewweniw wHOYWD Sy Hlmicu s @hssTe aumflwb

(C) mewesfiw ppb Sy Ppeuenhiser AsrELL auenii&fls Sl b

D) mewafiu wppiod Ay Hpeuerasd

79.  In a statistical enquiry, all the items which fall within the purview of enquiry are known as

(D)

(A
(B)
(©)
(D)

@ Yererfl efleury ellgmyen

" universe
(B) sample
(C) finite population

infinite population

GuireRT_LD

pysien gpeos A5mEH
sag)

WPy eyD QPpeos As1EGS
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80. ————isa preferred sampling method, when the size of population is finite.

Tippet's table of random numbers

M Lottery method

(C)  Cluster sampling

(D)  Stratified sampling

- Wésa Hgrens Sietey pigeyeTansTS O LTI e — wrdf apenp Cseneu.
(A) G-I 15601 QUITIILIL] GTERTEET <L 6L GReRT
B)  GaissD apenp
©)  Ager word
D) uvbes wrff

81.  The main problem of Textile Industry is
(A)  Cost of production
(B)  Technology

M Availability of raw materials is less
(D) Capital

e Qgmeler s wadwioner Gyssener
A)  2husd ellevew

(B)  Qsmflé g b

©)  wpeuQurm_safen S Lumento

D) wesend
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Who is the Father of Statistics in India?
\u( P.C. Mahalanobis

J.C. Kumarappa

C. Rajagopalachari

V.K.R.V. Rao

@pHwnreden yeraflufiwelen sheng wri?
(A) 9.8 vapaGrmSen

(B) Qg4 @mmﬁun

(c) & @qngc&nunw&&mﬂ

(D)  6fl.Ca.ayiv.e. gres

Ethical values
(B) ©~ Money value
(C) Commodity value
(D) Real value

\l?n'ples of Gandhian Economics is based on

arbs Qanareansuden gL uie smpSuL Ourr@smrgrrp'tb th:.ld)u@ﬂg)g?

(A)  @ussb srips Apdlad -
(B) uemtodl

(C) Qummer wHy

(D) o awmenio iy

How many countries are members of the International Monetary Fund (IMF) is on 2018?

(A) 110 189
© 120 D) 125

uenei(® uew HHUSHDEG sHCLTE 2P prpser 2018 Lg arggemen?
a4 110 (B) 189
(C) 120 D) 125
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85.  According to —————— the term taxable capacity refers to the sacrifice the community is
able to sustain.

(A)  Prof. Colins Clark (B) _Sir Josiah Stamp
(C).  Prof. Shirras Prof. Musgrave

e sapmiiivg, auflég e ur fen erenug) sapsssTed Hunsid Q&awwssaig

SieTeneu Gbladlng.
(A)  Guordflwi srederen Hemmis - (B) eanr Cggraw evL_mbly
(©)  Cuor&flwi efymrev (D) Currfwi wevdCreu

86. The main weakness of the Fisher's quantity theory of money is
(A)  Prices neglects
W Rate of Interest neglects
(C)  Both (A) and (B)
(D)  Neither (A) nor (B)

Gegflen e syeray Gam_Lim_igen wéfluorer LaeSanons e smgiaug)
Q)  doesmer ypssamisso

B)  aly dfssms Upssafigsa

©) (A wpgd (B) @ram@id

D)  Ayo @adaa (B) Boena

87. . The Central Bank increase the money supply, is
(A)  Low in prices and wages
Equal rise in prices and wages
(C) Constant prices and wages
(D)  Constant prices

emww eumid Liewr siafliienL SiflsfléEnaunpsy

(A)  ellenaaer whmib sellser Geapay

B)  elleaadr whmb sellsdr swwrs S sflEEn
©€) deowsd wpmid selser Haawrs BméEL
D) Aevewnen eflenaaer
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88. “More capital and less Labour” — What is the concept of this technology?

(A) Labour intensive technology

y Capital intensive technology . .

Water intensive technology

(D) Chemical intensive technology

“sifls apsad, GoDES ey’ @bs shsie Apmfile HILusSean Auwi
(A) eepuysQafle Asmflopub

B) epageas Qsfley AsmfleomLibd

(C) fir Gadley AgmPlédm L

(D) @rsmwar Aoy Agmflerpi LD

When the actual frequency of the attributes ‘A’ and ‘B’ is equal to the expected frequency,

then the attributes are said to be

M Independent

(B) Positively associated
(C) Negatively associated

(D) No association

@rem® uvemyseflan ‘A’ wppd B e emewwren Swabeuar Seupblen erdliumiiiy

Swe@eusrgLen swwns @magwrdern, seubbler Agmiy B mEE\D.
@) sppdons

(B) Cpiwenp Qgmimy

(C) edmoenm Qgmiy

(D) eps AamiTyb Goame
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90. Consider the following statements

1. During the period 1960-61 to 2010-11 the food grain production in India grew at a
compound annual growth rate of around 2%.

2. Food grain production rose from 50 million tonnes during 1* Five year plan to
290 million tonnes at the end of the 11* Five year plan.

Which statements is/are correct?

Only 1
(B) Only2
(C) 1and2

(D)  Neither 1 nor 2

Epsen ansfluhismer smsHd Qaners.

1. 1960-61 apged 2010-11 euenmuerar sresdad GHsL 2 ey graflw o puslureng somel
@) auerisd elldlgons 2% sHil Sieiohg)eteng).

2. pgamd ghsra® sragdd 50 Wodluer Ler o8 Qmbs 2 ey sraflu 2 puss 1leag
Bbsren® AL @il 290 Aol Lar 95 2 WS

@meusafie erg)/erancu &f7?

A) 1wl
B) 2uwi@w
©) 1 wpgib?2

D) 1o Geama 20 Gdama

91.  Productivity in agriculture is mainly dependent on this factor
Technological factor
(B)  Geographical factor
(C) Political factor
(D) Chemical factor

Cauarmamenio 2 pugdl @ésmeanflenw Qysrenors FThHGIETETS)
A)  Qsmflemu srref

B)  yeflulwe smenf

©) <swdue sryef

(D)  @usmuesr snyesf
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The Break-even analysis is a study of
(A) Costs and Revgnues

(B) Salesof a firm

(C) Costs

M Cost and Revenues and sales of a firm

(A) Qseeysdr LHMID CuHEITLISET
B) Pypeaueagdean ellhuemen
(C) Qsaweyser

(D) Q@sway wHmb aumamlser, Hneuargdean eflpuemearn

The possible measures of national income are

(A) Total stock, Net interest, Net output

\X Net outputs, Total income flow, Final expenditure
(C) Total output, Net income, Net investments

(D) Net outpuf, Net investment, Net income

BTl 6 euBLOTETEMS SereilL LweruBeug

(A)  Gurss @muy, Py ey, Hsr e duss

B) Hayepuss, Aorss auporand GLLLD, Bné psiey
(C) Qurss e pusd, far eumwreand, sy ps86

D) Hayepusd, Har pss@. ey aiporeand
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94.  The full employment and the movement of the economy beyond full employment is
characterised as ———— period.

2
(A) Critical
(B) Depression
Boom

(D)  Recovery

Henp Ceuenar Hlenaw wpmid Henp Couened gremng W AumpaTigmy ;55&6\99’)@ sredflay
eremm Aamereramb.

(A)  8sGorswren

B)  wis Heoa

(©  Qurmemsmy Gsgeno
(D)  BLQLgsd

95.  The relationship between population and food supply was discussed by
(A) J.B.Say
(B) J.M. Keynes

MT.R. Malthus

(D) D. Ricardo

WwéseT Agnens HYIL 2 e afliise G orear Agm_mSenan Qeuit efeundlgsmit
(A) Cg.9.Gs

(B) Cgerd. Sanen

©C) gy wrodgeL

(D) g AssmiCLmr
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96. Both national and international trade takes
(A) Cost and benefit

(B) Income and expenditure

(D) Input and output

(A) Qesweywpmib vwerurH
(B) augmeumi wpmid Qeway
(C) Qeoeysdr Hmd ellpesEr

(D) edet® wppb Aeueflli®

97. Domestic means

\K Own country

(B) Abroad
(C) Region
(D) State

2 eTp(H eramusen AummaT

(A) Qsnps BTH

(B) Qeaueafipr®
(C) QorpHuid
(D) wrflew

39

place in the difference between

QsneE Qe KGerer Gaugum’ iy CaGw, Caélw wHmID uenem_( auisgad peoLAunSins
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98. Under pure competition, the average revenue curve is a

\M horizontal straight line

(B) vertical line
(C)  sloping downward
(D)  sloping upward

g Gum_iguled, sgma eupeumis Gar(®
(A upsms CriCanr@aer

(B) Qsussg Gan(p

(@) &Gy aumapgisQsawaib

D) CuCe eumanpgs Aswgyb

99.  Sarkaria commission is related to
(A)  Foreign affairs
@ Financial planning

M Center-State relation

(D)  Entry-Tax

siarfiur sllager @CsTH QAsm_iyenwg)
(A)  Qauelipm @ Qgr_iyser

B) P A L8Gse

©)  wdu-wrile o peyse

D) e e

100.  Who introduced the concept of elasticity in economics?
(A) J.M. Keynes

P Alfred Mérshall

(C) Adam Smith
(D) Hicks

Qumrmermgmysde Apdlpés aremp smpHeaear sflapsid Asiigeur wri?
(A)  Ggg.enb. Seneiv
(B) @@ wriragd
©) ibavds

D) adlsen
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101. Static Economics possesses an introductory pedagogic value stated by
(A) Marshall
(B) Hicks
Zuethen
(D) Schumpeter

Quist Qurmerngybd Siflwps Curgs wFLbiemen QupyeTeTgy ETem WITTIE SahUILILL &7

(A)  omiregd
B)  abléev
©) ewsda
(D) HLISCL

102. Who worked and brought out “The Theory of Monopolistic Competition”?
(A)  Joan Robinson ‘
(B) Prof. A.C. Pigou
J# Prof. EH. Chamberlin
(D) Sraffa

Heop@mp Cum_y. Car_ur e s Qeuefufl g wmri?
(A) Cgmer qmlensen

(B) Gupn.AC.89s

(C) Cup. E.H. smb@uitedlen

D) - evgmaum

103. Under perfect competition, MR and AR curves reflects

(A) MR>AR
\pf MR = AR
(C) MR<AR
(D) MR = AR

Hlesmey Gum_igulled @uodflow amami Car@wb wHHD syrefl eugpeumis Car@b GrHuesiiiy
Q) oo amaurni sfsisgb syref aumeauramuw el

B) Qondhae aumeumiéd FoWNS syra au(meuml @MHEELD

© @offeoe amaunl Gopbg sl umauramu AL QmEEWw

D) @udfee aimeunis srsfl BTl SOLHDSTE BméEw
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104. Who defined the law of diminishing returns in a logical and scientific basis of the law?

(A) Adam Smith (B) Ricardo
(©)  Malthus 7 Marshall

@onhs Gse eflarey eflfleow Humuorsen whmb siHefud yieuonsed @bs olfés
Qassamd sHheeui wmr? |

(A) @b audls (B) MasmiGLn

(C) wragev (D) wnirage

105. Unavoidable cost and uncontrollable cost is also known as

(A) ° Future cost

M Sunk cost

(C) Money cost
(D) Real cost

peflliss prywimg Aswey whpib s_QAUUEES s ewey @eseurmy sBlwend
(A)  eadisre Qseweay

®B) b sy

(C) uvews Qsaey

D) o amewsQsae

106. According to Marshall Economics is a study of on man and

S Welfare (B) Wealth
(C) Scare (D) Money
wriragellen sapmLiLg. QurweTTgmb eramug weaflgsmeanyib WHMID
(A) peen (B) Qaeeuid
© upprEgen (D)  wewmd

MAE/18 42 2




107. Production function is mathematically expressed in the equation Q=fXK,L10).Q stands |
for '

(A) Quantity of input

W Quantity of output
(C) Quantity of raw materials
(D) Quantity of Labour

Q = f (K, L, I, O) erénp sexflp swoanum_igen aped 2 pusd Gewdpenn QauefliLP&5sULBEADS!.

Q -erenugen GummeT
(A) o arefl () emey

(B) Qeueflil® iemey
(©) @a)i:@urr@'usaﬂén 2676
(D) n_a)puurrarﬁsaﬂdr 2jerey

108. The key position in the study of Economics was
Wealth (B) Material
(C) Money (D) Labour

Qunpaliume gpiey Gelaude s wpsdu GLsHe Qg 2 emang)
(A) Qseeud (B) omss Qunmearser

(C) wuewrd (D) eenpuLImaTT

109. If APC > MPC at all levels of Income, It follows that
(A) APC+APS>1
(B) MPS < APS at all levels of Income
(C) MPS=APS at all levels of Income
\J MPS > APS at all levels of Income

Simanpg aumeumi Flereuligid Qodfeoe msiey HTLLS®S smg@id syrefl matey HiLLLD
2fswons Gmonden

(A) APC+APS>1
(B) MPS < APS siemangg cumeumi flene

(C) MPS = APS sieaisg) cumani flae
(D) MPS > APS sieenggl aumeumis Hleve
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110.  Super multiplier explains
(A)  Capital output ratio
(B)  Budget multiplier

W Interaction of the multiplier and the accelerator
(D)  Reciprocal of the Marginal propensity to consume

Ay Qumsd efaréen wimgy

(A)  wosea 2 Huss elldsin

(B)  eurey Qawey i Qumad

©)  Qumss wpgind ap@aduden Bren@Len Qamamsa
D)  afivep @ndfoe BISTe B b

I11.  If the consumption function is given by C =20 +%Y » then the value of multiplier will be

4) 20 (B)
M 4 (D)

msrey smimy C =20 + %Y e QarRésiin Hereng. Siuugwrenmed Aumsufen wi ereren

[V [ SN [y

Aa) 20 (B)

o N

€ 4 D)

112, Autonomous Investment is influenced by
(A)  The level of Income
(B)  The rate of interest
(C)  Both (A) and (B)

\V Neither (A) nor (B)

senenm_8 1pseSH Spsar. eflensefd TG FNTHGIeTeTg
Q)  aumeaumis ey

B) ey fdsn

©) (&) wpgd (B) séu Qren@id

D) A Beoaa whmyb (B) B
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113. The difference between GNP and GDP is equal to
. \/ Net factor income from abroad
(B) Gross foreign investment
(C) Net foreign investment

(D) Net export

Spsan sappsafie GNP wpmid GDP i@ @eLuwie o arer Caumun(p) eTgDé&E si00ns 2 GTeng)
(A) Qaeipr@sdmbs HosE0 Har snyesflsafien eumeumi

(B) Qurgs swadpT® ERIC

(©) fHarswapm( ERIC)

D) Hsygppiod

114. Investment Multiplier can be obtained from ——— (symbols have the usual meaning).

1 M 1

SR |_4aC

AS AY
: 1 1

(C) AC (D) AC

Qi —— 1+—

AY

s B Aumsd ECp Qar@ésuulBerar GsHrasaic erg) eren sa (H1 1y &6

1 1
(A) e _ (B) i
AS AY
1 1
R gl v -
AS AY
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115. What is the main assumptions that influences the output and employment in macro
economy? o
(A) Labourin heterogeneous
y There is a closed laissez faire capitalist economy without foreign trade
(C)  Total output divided between investment :'and savings

(D)  Inflation with full employment

Gulwe QAurermgmisSe o HusS whHmb Ceuemaeumiienu Blieerullédleny apadluioren st HCamer

oTEy?

(A)  eepiy uenaps genanio Qamewr_g '

B)  Swapr () arafun Gowrs seoll. Qsrdms Qsrewr_ apLliLl L apserefisgia
Qur@ergny Qanerens _

©) Quigs e pusd wsse whmb CablliyseE @ ufd udlipgefiss’iu@dps

(D) uenelEssg)L_ e Qamerri v Cauma Haraw

116. In the national income calculation, under production method, the entire output of final
goods and services is multiplied by

\V Market prices
(B)

Factor cost
(C)  Both (A) and (B)
(D)  Neither (A) nor (B)

Coblu aumeaumis semadi ige, 2pussl wepulld @ GAwss Qof 2 Husd LT s WwHMILD
uerflser @)senen Aar@ésiiu@Epg

(A) sheng eflenen

(B)  amyenfl Gewey

© (A wppid (B) s

D) (A saup (B) say
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117. The level of employment in capitalist economy depends on
(A) effective employment

(B) effective supply

\V effective demand

(D) all of the above

wsonrafiggse Qurmenmsnysda Geuae eumuiflen Sierey Gens FmipIieTeaTg)
(A) eflenerayerer CaueneeumiiLiLy
(B) eflenereyerer safliiy

(C) eflenerayerar Caeneu

(D) Cupsmdu Semansg D L

118. The Keynes theory of employment is called as
(A)  Principle of supply of money
M Principle of effective demand

(C)  Principle of demand for money

(D) None of the above

Eanflen Caumaeaumiiiy Cam_un® @earn mpssiuGEns?
(A)  uew sefluy Qarerens

(B) denerayerer Copameu QameTens

(C) uews Cameu Aandrens

D) CuCe sadlw ergayllerencw
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119. ‘The General Theory of Employment, Interest and Money’ by Keynes was published in the

year of
\w/ 1936 (B) 1932
(€) 1930 (D) 1934

Samaund ehy e ‘Ceuereamiiy, ey LHML UGS Qurg ssgend eemp MmO

TSI L &)
(A) 1936 (B) 1932
(C) 1930 (D) 1934

120. What is Cash Reserve Ratio?
(A)  The fraction of deposits that commercial banks lend to the customers
(B)  The fraction of the deposits that RBI must keep with commercial banks

\V The fraction of deposits that commercial banks must keep with RBI
(D)  The fraction of deposits by the public

Gyrés @i A0 crempmed eremen?

A)  aefls undsdr aumg saswneriaayss sLar auphiGD @auliysaiear uGHows @D &0
B)  owvwardure aafls aukdsen e masdmis Ceudrg i meuliLseien ¥ erand

©)  aefls widsar enow aunduy e mausdmas Cousrig MeULIL|.LIMIG&6T

(D)  Qurg wsseflan wauiLsalien gm uGHaw @hléeb

121. In Don Patinkin’s approach, what factor affects the demand and supply of goods?
(A) Normal prices (B) Upnormal prices
y Relative prices (D) Real prices

e um_ig.endlein Cam_Lim_igé eThg snyesfl Lam_ksafien Cgeneu HOID Siafiiiemu unflédlmg

A) Quey el (B) <ifs ellenew
(C) Qsriiyenw eflenaw (D) zcawmew el aer
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122. Liquidity trap is unable to stimulate money economy because
(A) lowering interest rate
(B) increasing the money supply

J? Both (4) and (B) correct
(D) None of the above

pienwn genenn Qumhl (Sideg) Aena-Lemé Qararens QUIHETTSIIEMS ST (PRLTSS
g@anafla ;

A)  EopHs iy dldsd

B) uew ey fsd

©€) (&) whpubd (B) &l

D) Cule slug seum

123. The supply of money is

\M A stock concept

(B) A flow concept
(C) Both stock and flow concept
(D) None of the above

wewt siafluy eremug

A) @muy Csm_ur®

(B) QGsweur @ Camiur® (idwg) spnd Cam_um®
©) @muy Cam un® wpmib spHé Cam_un(®

(D) Gup@srenar eranauublanay
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124. In which year, the Bank of England was given the monopoly status to issue paper currency?

(A) 1984 - W 1884

(C) 1784 (D) 1886

hs e () Cuiis oy @rudenss srés ueb AQaueflBn g fenwau Quhpg
(A) 1984 (B) 1884
(C) 1784 (D) 1886

125.  In which year the Central Bank of USA known as Federal Reserve system was established?

@A) 1912 G 1913

(C) 1914 (D) 1915

21Qiofss psdlu preselo eww amdule Ques Quige flstes fAdvd <ig ahsTam®

QAgm_msiuc L g?
(A) 1912 (B) 1913
© 1914 D) 1915

126. In July 1969, how many banks were nationalized?

M 14 (B) 18

() o6 (D) 28

1969 & ergpanan curifser CawbLionéatiug L ar?

A 14 (B) 18
(C) 06 (D) 28
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127. Which institution was set up as a wholly - owned subsidiary of the RBI in July 19647
(A) The Industrial Finance Corporation of India (IFCI)
(B) The Industrial Reconstruction Bank of India (IRBI)
(C) The Industrial Credit and Investment Corporation of India (ICICI)
M The Industrial Development Bank of India (IDBI)

1964 gpOamanfle Meires euridflulen ppemowITen FevenT Hipieienons Hmeutiu L fipeuend erg?
A) @pdureien Asmfagimn Hs sped (IFCI)

B) . @pduneier Agmfogmp wpsrawi akd (IRBI)

©) @pHurehien Azmfldgimp sien wHHID PSS BE SPsD (ICICI)

D) @pdur Asmagienn euerisdl eurudl (IDBI)

128. In which year, the amalgamation of the three Presidency Banks into imperial Bank was

done? .
(A4) 1948 o 1021
(C) 1935 (D) 1947

GTihE eI, ey wrsTew aukidlsaflen swmauns @uoiflweé eukidl (Bgrrdngﬂmg?

(A) 1948 (B) 1921
(C) 1935 (D) 1947

129. In which year, the First United Nation Conference on Trade and Development (UNCTAD)
held in Geneva? '

(A) March-1954 (B) March—-1964
(C) March-1974 (D) March-1984

wse gsdu presefien auraflub LHHID auerivéd) wrpr® (UNCTAD) Qgeafleunaile) pLjbs e ®
(A)  omite-1954 G oriis-1964
(C) 1om&-1974 (D) - #1984
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130. If the government fixes, the foreign exchange rate below the normal market rate, it is

known as
\M Pegging down (B) Pegging up
(C) Clearing (D) Transfer

SITETRED sTgTa shens eflease ECpuner mpHlus Qsaraeai cleaau ;Elr’rafruﬂg,snd) 25|
GTEUGUMTN) SBEMPESLILI(HILD '

(A) Qusdns _eyen (B) Qu&di =
©) ey D)  ufwrpon

131. “Free trade is the external trade system of liberalism which opposes every interference by -
the state wit the free play of economic forces”. Who said this?

(A) R.G. Lipsey
Jagadish Bhagawathi

(B)
W Haberler

(D) J.M. Keynes

"applly wisssworeng, smmaanssdear sienafiu mn‘m wpepuie wrhlosdar Qurmertgmy
saglsaflen geuGeunm senauSen_uyb aflisdpg" wrmew smpy Ba

(A) R.G. SLGs

(B) msdey useaud

(C) . apuirenr

(D) J.M. Qaisene

132.  Which one is called Vehicle Currency?
(A) Yen (B) Dinar

(C) Rupee - w Doller

aursen Gynésid erem Sienp&siLHeug) eTg?
(A) Quen (B) Aenmi
©) mumi (D) Lreir
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133. The World Bank or International Bank for Reconstruction and Development (IBRD) was

established in the year
(A) 1942 1945
(C) 1960 (D) 1939

CTib% 2peTIq. A 2 W& kil SVWF) sireuCse gy Srewiy whmb Guobur-@ il fimpeulucL g
(A) 1942 - (B) 1945
(C) 1960 (D) 1939

134. Hecksher Ohlin theory assumed that there are two countries, two commodities and
factors of production.

M Two (B) Three

(C) Four (D) One

Qapsavat — ganadlar Cam_ur® G prOser. @ QuiBLeeT wHHL —— sryenflaer erem
Sig@wreand Qsmargi.

VIO C) (B) o

©C) preng . (D) qeam

135. The first United Nations Conference of Trade and Development (UNCTAD) was held in the
: year

(A) 1954 - (B) 1962

J 1964 (D) 1974 ‘

W5 aurerfiub LHHID Cubur® WBgmer ge’sﬂu) pn@&dﬂq’m I eThe @B BLHSS
(A) 1954 . (B) 1962
(C) 1964 (D) 1974

* 53 MAE/18
[Turn over




136. The Purchasing Power Parity theory was popularised in year
1918 (B) 1928
(C) 1938 (D) 1948

@b Hper Cam’_um e Gyue UBSsLLLL e
(A) 1918 (B) 1928
(C) 1938 (D) 1948

137. The IMF gives loans for
(A) Industrial Development
(B)  Agricultural Development

W .Correcting the balance of payment
(D)  Infrastructural Development

uenenm ) uer Fwn (IMF) THEDG HLen Qan(Hadng)?
(A)  Qsmfe auaiiaslE s,

(B) &fleusmyu auariraSlés,

©) Peas s Qup

D)  eifleuGss

138. What is the Hypothesis of Marshall's theory?
Price theory
(B) Income theory
(C)  Production theory
(D) Factors theory

wrirege Gam_umig.en smsiCand ereren?
A)  efleva Cam_un

B)  aumami Gar L@

(©) 2 pusdl Cam L@

D)  smyesfl Gam_un(
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'139.  Who was the ‘Founder of modern demography’?

&’ Malthus (B) Keynes

(C) Karl Max (D) Pigou

pelan wasat Agrasufume SigsgemblLeuf wimi?
(A) wragew (B) &eme

(C) &nitéd om&HE D) - Y9

140. Who is the father of Welfare Economics?

(A) J.M. Keynes (B) J.B.Say
y A.C. Pigou (D) Irving Fisher

Bl QuIBETTSTTSSEn SHEvS WTT?
(A) Cg.erid. Samev (B) Cg.9.Gs

© ag8Y93 (D) @ellm Gagi

141. Who used the concept of ‘Demonstration Effect’?

\M Duesenberry (B) Irving Fisher
(C) Malthus (D) Schumpeter

‘Qeuailsan_ b edeneray’ eramp smSns LSS weuT?
A) Cewsauf (B) @refli Gagi

(C) wra@gen (D) &S
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142.  The revolt against the Mercantilism was called

\M physiocracy

(B)
(©)
D)

mercantilism
modern physiocracy

modern mercantilism

auaflsandsenses adyrer Lrld Haauleen Qevauny sienpssiiuc L g

(A)
(B)
©)
(D)

Qupenaseungd
aueaflseungo

pefer Guipesaungid
pelen cuenflsaungid

143.  According to Gandhiji, birth control should be made through

(B)
(©)
(D)

Self control
Contraceptives
Abortion method

Operation

spHgflufen spmiiig., @sen apeiorsGey Gyhas Apuy sLELLESSULESH Caigm@id

(A)
(B)
(©)

(D)

MAE/18

WS s_(Huun®
&S wrsHeny (1) omd
S(HESMLIL

Sineneu fllsans
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144. Favourable balance of Trade is

M An excess of exports over imports
(B) An excess of import over exports-

(C)  An exports and imports are equal

(D) Promotion of exports and restriction of imports

sngnaoren eunenflu swflene erenug) wrg?

A) @nssoiowu L ghgwd siflsors Qruug
B) gppwieowu dl GnéEwd sidswns QrHuug
(C) ghmwHuyd @péEwHyb swiors QHLUS

(D) gdpwfou sassubss péEoiau GEpuug

145. Laissez — faire policy means
(A) Opposed all forms of government restrictions
y Govt. should not intervention in the ordinary business life
(C) Freedom of business enterprise at home and free trade abroad
(D) The govt. reduce the involvement

smauiLré Qaredtens eTenLg)

A) e smansg s_QUUTHEmeT eTHTILS

(B) seflwafls pgmq.&mauﬂd) 278 gl gL g

(© areflu fgeuarisedr sspArons e empm @ whpb Aeaueafpm Q&wleug
(D) =5 sl oL Gansg Qardeug

146. According to David Ricardo, pressure of population brings into cultivation of

M inferior land (B) superior land
(C) additional land (D) barren land

CLeflL MEamiGLT sapmitilg., waseT Agresuiien SiPSED STEUFES Qare(® aumeug)?
A)  smpps Pen B) e wips How
(C) &@Bae Hloow D) s Heowb
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147. Mercantilists believed
(A)  Prices should change based on demands supply
y Colonies exist to serve the mother country
(C)  Individuals should do business as they please
(D)  Countries should import as many goods as possible

QUTSH&6UTE ST ————— midiGent.

(A)  Caemeu whmid auprised Sig i uéd eflena m Ceuerr(Hid

B) asnaeaflsar SML BriignH@ Ceeney Qsiiw o ereren

(€)  spalipuiser elmiby elssHe aleian Qi Cadn@ib

M) prBser iy hseuay Lo QuirmmLsmer Bné@ s Qaiiw Cauam@in

148. Romans developed the use of ——— regarding commercial activity.

\M Contract

(B) Supply and demand
(C) Economic forecasts
(D) Interpreting sunspots

Grmorefluiser auisss pLeugsas Qs iling —— uwenu B gHentr.
(A) @uubsd

B)  afliy whpio Caemeu

(©) Qurmergry senfiiiyser

D) Euaier dflaasio

149.  According to ————, ‘Anticipated changes in money growth have very different effects
from unanticipated changes’

(A)  Philips \MRobert Lucas
(C) Keynes (D) Schumpeter

‘wenr euariédluiler erliiniss wrdmhisET aflifumys wrnsdsafd Qmpbs LIHUCL flamereysamers
Qanaimgmadlenpen’ — Geueuniigenssenie e

A) QGelluev B) grum_ Qnamen
(C) &enen D) sbSC
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150. Growth of Indian Economy requires a high degree of ———— development.

Agricultural (B) Cultural resources
©) Water resources (D) Forest resources
2 wit ienellemen ————— waGanmnCu @bHu AurmeTTsTy aueTéslae Coma.
(A) Ceuetmemento (B) se cueTmiser
(C) B cuemraser (D) euen cueTEISET
151. The agriculture was ————— during the First Five Year Plan.

‘ M backward and traditional
(B) forward and Modern
(C) upward and primitive

(D) downward and advancement

e phsrand HLL srasHo, @pSu elaustu wap —— QOBSS!
(A) Yensmdlu LHHD urpbufluwrs

B) eaCamsdu wHpb peianons

(C) CuaGrradlw whHb LpewTer

D) &p @oadu wppid paCadlugrs

152. In which system, the land revenue was collected from the farmers?
(A) the mahalwari system
(B) the ryotwari system
the zamindari system
(D) the royal system

aps HL apepanroudie, Hle eumeumi feusmlsafl LB mBE euGssIULLS?
(A) wsaeurfl gparp
B)  ugeurfl gpeom
(C) gbengmfl perm
(D) prgeubs pern
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153. A ——— sets target to cover all major aspects of the economy.

W Comprehensive plan (B) Partial plan
(C)  Whole plan (D) Bilateral plan

Qunmemgmygdlen amensg SIDFRSEHD 2 GTaT_Rsssa L @oddman Hiremilss Qarereug

DY GLD.
(A)  upeue b (ap(penio) (B) umdHLw
©)  @uew b D) @msrourer HL b

154. What is the another name of financial planning?
(A) Adopting
(B) Centralising
(C)  Avoiding

W Budgeting

B S e IAQgmm Quwit erean?
(A)  esQsrdreug

B)  evwuLLEssCs

©) sefliiug

D) ayey-Gowey AL b swnfliug

155. Failure of crops results in

W Food shortage

(B)  Input shortage
(C)  Financial shortage
(D)  Capital shortage

uuirseflen eflenarssd) Geanpeus ——5@ snyennondps
(A)  eaweyupprEGE@DES
B) . 2drel® LpprégopsE
 (©  ffuppragenss
D)  osa uppreGmDEs
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156.

157.

- 158.

If planning is done by Central authority, then it is called
(A) Decentralised planning
(B) Physical planning

Centralised planning

(D) Financial planning

wsHL swag oishow dsrisare ArrifiLed peQupomler,  Sigoe
AU LB eren SienipsslLBEDS!

(A)  uraerssiulL S LBl @
B) umw S blie

(C) ewwlU@SSIULL S flLe
D) HHH e

The people’s plan was based on —— socialism.
(A) _Leninist (B) Nehuruvian
Marxist (D) Gandhian

Wé&ET L naTg ——SOFTOHNS Sl LI rs QareRrgl.
(A) Qeaflefler (B) Crmedlen
(C) ionfidedlen (D) srpHulen

One of the objectives of Annual plan is

(A) to remove strains from expected events

(B) to remove strains from current events
M to remove strains from unforseen events

(D) to remove strains from past events

e H L sHan Cprasmsaiie genp

(A)  adiuniss fapeysafid o et seLsmer BaE@eug)
B) spCuresw Hapasafd o crer ganL_samen faGaugl
(C) afliumng Hapeyaeiics 2 arar genLsmer BaE@eug)
D) sLbssm® Hapasais o drer soLsma foGus
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159.  Priority to agriculture and rural development is the main objectives of — plan.
(A) Sixth (B) Seventh
(C)  Eighth P Ninth

Cauemramrens wpmb  Hymo eueridflé@  pengyfieno cTeLIg) i srwsden

Cprésiwonb.
(A)  aypreug B) gyreug
(C) STLLmaugy) (D) PG TS

160. When an employer refuses to give employment because of shortage of power,
non-availability of raw materials, the breakdown of machinery, natural calamity, it is called

(A)  Retrenchment Lay-off
(C) Strike (D) Lock-out

80 epsanefl Wersmrb upprE®, apers QurLser uppragen, @ubSykiser ey, Qupens

Cumnfley s dweaupmre Casema &7 @ueeildene eranpd, BBDE erenm Quwi
A) e sepuy (B) Ce apuls
(€ Caoofigsso (D) oré-ey

161.  Which of the following initiative was launched in September 2014 by Government of India?
(A)  Solar Chakra Mission

(B) Software Technology Park Scheme

\&”” Make in India

(D) Start up India

Sleneumeueneupmier @b Sirsmhisssre) Gslibui 2014 oyb g QAsmmsiulL per
Qpwpé erg?

(A) &flw s&gm Wlagen

B)  Quen@umger angﬂé@Lu s S b

(C) CuwéGar @pHun

D)  avLmi o @pduwr

MAE/18 : 62 ¢




162. How many major ports are located in Tamilnadu?

A 1 (B) 2

© 7 ya

sUPHT g6 erdgenan QUi giepapamiseT 2 dreren?
A 1 B 2
© 7 D) 3

163. Cottage Industries Board was set up in

(A) 1945 (B) 1946

y 1947 (D) 1949

Gigmss Agmfla aurflub semwssiulL e
(A) 1945 (B) 1946
(C) 1947 (D) 1949

164. EXIM Bank was setup in
(A) 1962 (B) 1972

M 1982 (D) 1992

ghpod-@ps@d and HpeuliucL arh
(A) 1962 B) 1972
(C) 1982 (D) 1992
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165. Which of the following considered the conciliation machinery for settlement of industrial
disputes?

W Courts of Inquiry

Labour Court
(C) " Industrial Tribunal
(D) National Tribunal

Geneumeueneuniiler Asmfliosieny sarmmisemen Sirey srer FreLuBss0 QubHrbd erg?
(A)  eflamyenemr BSlwenpriser

(B) Qgmflemarit fdwenpio

©) Gsnflperenms@sésnen BHweannid

D) Cséuw FPwemmio

166. The basic determinant of economic development in any underdeveloped country is

W Infrastructure (B) Agriculture
(C) Sericulture (D) 'I‘ranspdrt .

G®DHs eueriélenw prHsefen Aurmerngmy aGappSANE SigLiueL sTaflurer @ mliug
A)  slLewvlyser (B) Ceuarremrenio

©) ulPeueritiy D) Curégaursg

167. The history of Sugar Industry in India begins in

W7 1903 ®) 1930

(C) 1935 (D) 1960

QpHureile sissmr el aurony Agm_kidw 24601 (H

(A) 1908 (B) 1930
(C) 1935 (D) 1960
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168.

169.

170.

Micro Finance Programme was set up in India in

M 2003-2004 (B) 2005-2006
(C) 2006-2007 (D) 2007-2008
@pdurede parefiu HHsH LD rbllssiuL ;%aiw@
(A) 2003-2004 (B) 2005-2006
(C) 2006-2007 (D) 2007-2008
In which of the following location, TIDCO Aeropark is established?

w{/ Sriperumbudur
(B) Cuddalore
(C) Ambattur
(D)  Guindy ;
Spargmid @it @L5H® . Car gCym yhisr fipeuniuc Gerang?
@) wBAumbLgT
(B) &g
(C) ubuggnt
(D) Aerg
When did Foreign Exchange Managementi Act came into force?
(A) June 1, 1993 (B) dJune 1, 1991
(© June 1, 1973 @ June 1, 2000
.au'bfﬂtu Qsareuei Gueraremn s Lib ariCLNg oSS ubSS!?
(A) granl, 1993 ; B) greanl, 1991
(C), grenl, 1973 (D) ggoen 1,2000
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171.  Rank correlation coefficient method was found out by

M Charles Edward Spearman
(B) Karl Pearson

(C) Taro Yantane
(D)  Ya-Lun-Chow

sreuflens 2._an Qgmir s QspeSlenan ser_ihbgeu
(A)  srieen erleuir® evwiGioss

(B) asmié) Qwirsen

(&) ut.(sun wirSlefl

(D)  wr-gen-Qaar

172. A diagramisa ——— form of presentation of statistical data.
(A)  hide
(B) blurred
W visual

(D) invisible

PO UL Lorang), Lerafl eflauriisesr ———— auig efléh peeaflmSgiasnEw.
4)  vepps

(B) wiseren

(C©)  snQemrmefl (=) smA

D)  sargméEs) yoamsns

173. Collectiop of Data can be divided into ——— types.
(A) one \M two

(C) three (D) four
yerefleliuy GesifliiGen cuenssar .
A) gy (B) QuenG
© ey D) prens
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174. Statistics is indispensable to

\M planning

©)

controlling

yerefluflwe) —————— 5@ @enbluenownss!.

(A)
(©)

L IDsEE
asn'.@ﬁu@ggmgj)@

(B)
D)

(B)
(D)

monitoring

governing

saEmsTaULSDE
2 EHPOEES

175. Which method is useful to find correlation between two variables?

(&)

Positive correlation

y Coefficient of concurrent deviation

©
D)

Negative correlation
Coefficient of determination

@ren® wrhlesEsse Gen Cuwinar 2 Len Agmindener <l Gl"l_'bﬁ‘ e LweaBssUUOEDS?

(A)
(B)

©
D)

CpflenL 2L e Agm_imy
o L afls eflewsss Qs
afflen o Lem Qgmity

Sionens Qs

176. Statistics does not analyse
M single man or single unit

(B) the societies culture

(C) the mathematics

(D) the historical events

Lerefufiwiéd ——— uph ey Qalwng).
Q) saf wallgan sdaz seGuN® J0EG
(B) sepasdlen seonsamyid

(C) sefigeiwe

(D) auperHm Hapeyser
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177.  The gggression lines cut each other at the point of
average of X and Y
(B)  average of X only
(C) average of Y only
(D) the medianof X and Y

wrhlsafien Qgm_iiys CanBaer garep@urenm Qe Hib yereflwimeng
A) X uwppw Y ear synaf

(B) X ansgmafl wl_@Hid

(C) Y enaygmafl b @b

D) Xuwpmo Y e waH yarelldd

178. The number of questions in questionnaire should be
(A 5 (B) 20
minimum (D) maximum

slems@sn@Sulgidrer eflamssaiar cranaflsans Bmés Couarmg.wi iaray
A 5 B) 20
©) ©onHs LLsn (D) aflsulsn

179.  Where r is zero and the regression lines are at right angles, if the variables are
(A) exact

dependent

(B)
& independent

(D) not exact

r yRwiwrseyb, wrilseflar Agr s Can® GsmCsramonse,b Bmiug, wrilser ereueumdmE@n
Cun@gerpred

A) geodwors

(B) anibElmé@Cung
©) smmdmégnCung
(D)  gevalwibendfl
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180. Quasi Random sampling is also known as

M Systematic sampling

(B) Stratified sampling
(C) Cluster sampling

(P) Judgement sampling

uEH eumiii wrHfl erenug Guigud sflutu@éms
@)  pyug wrdf gop

(B) u@s wrdfl epenp

(€  Srerordfl apeop

(D) giroy wrdfl gperp

181. Chance sampling is otherwise known as

(A) Non-probability sampling

M Rando.m sampling

(C) Purposive sampling

(D) Judgement sampling

aumiiy wrdflwrésnd ———— a@@e’s&ﬂu@ﬂmg.
A) searsfapsse

B) eumi wrdfl

(C) Gpnésgparer il

(D) &y wrl

* 69 MAE/18
[Turn over




182, An investment ceiling of ¥ 25 lakh on plant and machinery of manufacturing enterprises is

classified as the following under the Micro, Small and Medium Enterprises Act, 2006
(A)  Medium Enterprises

(B) Small Enterprises

W Micro Enterprises :

(D) Macro Enterprises

2000 b yemgein G, Sy wHmD BRSS! @gmc'mén&aﬂdt s Slan 8 25 el s mumd apseS.{
2 &8 QUDLINS Qanm';ﬁlmgmmgmg STeueUN QUMSILIRSSLILIL [HeTerar?

(A pEssT fpeuemss (Medium)

B)  Aflwu Ayeemise (Small)

(C) mewr Blyeueniser(Micro)

D)  umellemd Poeuariser (Macro)

183. Milton Friedman divided a consumer’s income into
% Permanent income and transitory income
(B) - Demand and Supply
(C)  Cost and Profit
(D)  Income and Expenditure

leb"serr G omenr s Gourfien Su(BLOTENGEnS . — erem QA admmi.
A)  Aeewrer wpmb QeusliviuemLwrar QU(mLOTELD

(B) Ggeau wpmd syefiiiy

©) dfleva DL Gamuid

D) aumwranbd wHmyb Gswey
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184.

185.

186.

How many countries are not members of the World Bank?

A) 19 (B) 10

© 15 | @f 5

aragamen prHse e.ws aumduid o plidenisems Gaamen?
@ 19 ® 10
© 15 ' M) 5

International Development Association (IDA) was established in the year

(A) 1940 (B) 1950

M 1960 (D) 1970

uenenm_( eueriréd) swaid (IDA) Camppiell s ye(®
(A) 1940 (B) 1950
(C) 1960 (D) 1970

When was Fiscal Reforms and Budget Management Act enacted?
(A) 1991 (B) 2000

\9/ 2003 (D) 2001

HE Erdmsshset wppb L QgL Goardraw s_Lb GuppUuLL g eriCuing)?
(A) 1991 (B) 2000
(C) 2003 (D) 2001
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187. Which of the following is not a determinant of money supply?
(A) The required Reserve Ratio
¥ Bills of Exchange
(C)  The level of Bank Reserves
'(D) Public's desire to hold currency and Deposits

, Qar(asuu’ Dererencusaiich ey Liewt aflueu Sioreflégn Siorafl side
A) Cgamwa @iy g0
(B)  wrpm 2_aBTig LIV EET
©C) aund @muy Sierey

(D)  Qurg waser uaTons WHMIDL @aItILNE cukiduléo @ maEn G muyser

188.  Which of the following one is not a near money?

(A) Bonds
(B)  Bills of exchange
(C) Treasury bills v

7’ Electricity bill

£Cy Qan@ssiiuc Gerareeusaier ey SimHaETeL LigTD O
(A)  usByiuser [ Lkigser

B) vy e amgudsdr

©)  sopaye usHrmser

D)  Hensry s_ewriiser

189.  Fisher's quantity theory of money fails to measure
(A)  The purchasing power of money
(B) Cash transaction
Value of money
(D)  Value of goods and services

Gsflen Lewr syarey Camiun® & Serell_ geuglell 1 g).
(A)  vewgdlen eunrii@id ﬂms&v

(B)  uew pLeugsmEsET

©) uvemgHen wday

D) v dser whpb Lefisafien AL
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190.

191.

192.

If two attributes A and B are independent, then

A)
(B)

(D)

Actual frequency # Expected frequency
Actual frequency > Expected frequency -

W Actual frequency = Expected frequency

Actual frequency < Expected frequency

@ren(® uamysar ‘A’ wpgud ‘B’ sspBlyons BméEEwaild LEurpsg

(A)
(B)
(©)
(D)

2 amenwiTer Siema@euat * el enebleuer
2 GETenLOWITaT Siea@euar > eHiLmmiL iemeblauem
2 @Tenwrar Sem@eaieat = erHfLmTiL e 6eud

o GmenLowinan Siena@euar < erHlifLIMTUIL Siene6leuedt

H,:P, - P, <0 versus H,: P, - P, >0; is often called as

(A)

One tailed test

Upper tailed test
(C) Two tailed test
(D) Lower tailed test
H,:P,-P, <0 afiyns H,: P, - P, >0 —  capassUEDS.
A) empaear Gergamen
(B) Guwa apenen Gengenen
C) @mypemen Cargemen
D) &p paen Gsmgenan

In Cpbb-Douglas production function @ = AK*L"” share of labour in the total production is

B ®B) 1-8
€ A D) d.L
sTU-Léarey 2 pusd smiy Q=A W¥é Qurss e pusHuie eepllber LRETS
Bmuugl.
A B B) 1-8
©C A (D) d,L
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193. The concept of permanent income inherently involves
(A)  Unexpected income

(B) Real income

(C) Nominal income

M Expected income

BIHST euLOTeID eTenD &(Méa Buaurs Agriny Qarer_g
(A)  edltuniésns eumomend

(B)  oawmeno augmomad

©) @uéy aumonrend

D)  efitunigs eumwrend

194. Resources used for the production of products are known as

\/ Factors of production

Production function
(€C)  Process of production .

(D)  Techniques of production

Learr_isemer swmflés LeTLESSUILGHD euaThiseT ST DD PESILIHE D).

A) e pusH sryefiser
B)  2pusd smiy

©)  2pus afiapenp
D) epus e phsar
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195. Identify the statement which is not related to the prospects of Indian agriculture
(A) Basics of Indian Economy |

(B) Provide More employment

M Using advanced technology

(D) Support to the growth of Industries

QsrpasiurGearer ansdunsaiid GpHu Gouarmamamoulen Apuwa@pE QuIHHSTE QeaTean
Qsfley Qe

(A)  @pdu Qurmensnysden gL Gsmple

B) =fsCame umiliemu PRGNS

©) aGappom s Asmis prusms LuaLGS5EDE

D) GsmApgienp eueriéhlég o gaiding

196. Which of the following is needed to guarantee full employment in the classical economic

system? :

V Wage-price flexibility

(B) Government interference

(C) Imperfect knowledge in market

(D) Existence of short-run

@gmeenio QurEBETTSTT PP, PP Goucmeaimiliég e sfraunsd seaflliug) ag?
(A)  smeléE0 dewsEn 2drer Apélpey

B) ersmius smeuil

(C) speng LpH Hlevp@ep idley

D) Endu srewrs @msso
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197. ————————— is the net flow of dollars into the country due to sales of goods abroad.
(A) Cash balance [

\V Trade balance

(C) Income balance

(D)  Total balance

Qauelipr’ind popr @ udr ks shuemeanianmd BO BIiigh@Ger eumd Hlar Lrer wdiiy
Qeuaumprs spliL@Aps

(A) Qorés ensullmLy =

B) aisss msulmiy

©)  eumeumis eaul(miy

(D) Qurss ensull iy

198. Keynesian aggregate supply curve is
(A) Vertical
Flat

(B) ' 4
M Horizontal

(D) Circular

Senadlen @U QWSS Sefliiyé Cam iy e ulg.uLD D4GLD.
(A)  Qsigssrens

B)  slenLwmreng

©)  uv@ses Gam_reng

D) el wreg
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199. Karl Marx was the founder of

M Scientific socialism

Utopian socialism
(C) Philosophical socialism

(D) Neutral socialism

Bsen Hmeuentt &IIE LOMTEE HeuT
(A) sfdflwenThs FupsTuD

B) sraHwbHD EHLMET FAPSTULID
(C) ssEUTTSSONET FUPSTILID

(D) swhlame sepsTLID

200. Globalisation is significance for conducting ——— policy.

(A)  Micro economic

(C) Mixed economic

(D) Fiscal economic

@)sen Qsrarasudieanan auifl pLSSIUSDE 2 QEDWIDTESM SSIILILDTET REDTGELD.

(A meweflar QurmeTTSTy
B) Gufler QummerTgNy
(C) sy QurmaTTSry

(D) HH QummerTmy
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